Jotul 601 N

Jotul 601 N, black paint cat.no. 320060

Pos. no.  |Spare parts Cosist of pos. no. Benevnelse Description Dim./Spec.
1 10069492 Turboplate, plandreiet $200mm Hot plate, p200mm Cast iron, min 4mm thick
2 Pakning Gasket LD 360 ¢8.7x850
3 10038110 Hvelv Baffle plate, Cast iron, min 4mm thick
4 116994 Mutter Nut M8
5 10033612 Vareplate f/der Vent baffle f/door Cast iron, min 4mm thick
7 10064092 Topplate, BP Top plate, BP Cast iron, min 4mm thick
8 10064692 Rgyktut, BP Flue outlet, BP Cast iron, min 4mm thick
9 10120392 Bakstykke, BP Back plate, BP Cast iron, min 4mm thick
10 10120292 Sidestykke, BP Side panel, BP Cast iron, min 4mm thick
11 10063792 Bunnplate, BP Base plate, BP Cast iron, min 4mm thick
12 10081792 Ben, BP Leg, BP Cast iron, min 4mm thick
13 151369 12 Ben, 4 stk pakket, BP Legs, package of four Cast iron, min 4mm thick
14 10033892 Reykhullsdeksel, BP Blanking plate, BP Cast iron, min 4mm thick
15 117435 Skrue senkhode Countersunk screw M6x16 DIN 965
16 10084810 Brennplate Burn plate Cast iron, min 4mm thick
17 117118 Skrue krage Screw, collar head M6x16
18 350324 Varmeskjold, bunn Heatshield - bottom 0,9mm steel plate
19 117099 Skrue krage Screw, collar head M6x25
20 117118 Skrue krave screw collar head M6x16
21 117805 Skrue sylinderhode Screw, cylinder head M6x30 DIN 84 S.krom.
22 120015 Knott Knob, plastic Plastic 7483
23 116832 Mutter Nut M6
24 120013 Hake Door catch Steel
25 10108592 Klinke Door handle Cast iron, min 4mm thick
26 116960 Skrue senkhode Screw flat inthex M8x25 DIN 7991
27 120004 Skive Washer (?18x06,4x1.6
28 127075 Dubb Sort kromat Pin, door black cromat $6x33
29 Dor Door Cast iron, min 4mm thick
30 151334 2,4,5,25,26,29,31,32 | Dgr, komplett, BP Door, complete, BP
31 116910 Skrue senkhode Screw, countersunk M8x35 DIN 963
32 10346792 Ventil, BP Air slide vent, BP Cast iron, min 4mm thick
33 Forstykke Front plate Cast iron, min 4mm thick
34 150495 20,24,33 Forstykke komplett, BP Front plate, complete, BP
35 320073 2,4,5,25,26,29,31,32 |Glassdgr BP Glass door BP
37 128101 Glass keramisk Glass, ceramic 4Ax147x154
38 10315592 Ventil - glassdgr Air slide vent Cast iron, min 4mm thick
39 117512 Skrue panhode Screw, panhead M6x12 DIN 7985
40 10315392 Luftbrem Air deflector Cast iron, min 4mm thick
41 Pakning Gasket LD 187-1 (4.8x600
42 Pakning Gasket V-125 8x150
43 128427 Fjeer til glass dor Spring for glass-door 0,7mm Stainless ¢7.6x13
44 10315492 Ventilholder f/dgr Door baffle Cast iron, min 4mm thick

3-2999-Po1




	Ark3

